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List two main forms of a linear equation.

| — _ — Ay
Slope interCEPt form: | — W\ 7L-{l (f) Point-Slope Form: kﬂ ‘j \ f‘ﬂ' X * |)
(also referred to as y = form)

1. Find the point slope form equation of the line that passes through the given points.
a. (-3, 14) and (2, -1) b. {1, 3) and the origin

Y- = 3(x+3) or Y3 = 3(x=1) or
%T(S’ZQC’Q Lﬁ:'?;\

2. Find the slope intercept form equation of the line that passes through the given points.
a. (3, 5) and (6, 15) b. (2, 7) and the origin

4= T x-s 125~

3. Write an equation of the line that contains (4, 5) and has a slope -3 in TWO ways.

y-< ZG“"'“() an A y = I 17

4. What is the slope of the line that passes through (3, 0) and is parallel to the y-axis?

Unde bned

5. Determine the slope, y-intercept, and x-intercept of the line that passes through the following points or has the
equation given.

a. (-2,3)and (1, 4)
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Slope: 3
o 2)
y-Intercept: (O/ 3> e« [0, g‘z‘

x-Intercept: f—-” ) DP




b. -8x +3y =48

6. Write the equation of the line that passes through A(0, 5) and is parallel to the line 6x + 2y = 12,

Lj“ S‘ :"(37( or (j -3+ <

7. Graph the following equations.
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